TOFIT

a)4-b)6-c)8/10-d)12-e)14/16yrs

HEIGHT a) 102 - b) 114 - ¢) 126/138 - d) 150 - e)
162/168cm

MATERIALS

PHIL MIKADO: a)4-b)5-c)6-d)7-e)8balls of
DENIM

1 pair each of 4.5 mm (UK7 US7)and 5 mm (UK
6 US 8) knitting needles

2 cable needles

4mm (UK 8 US 6) crochet hook
1zipper:a)35-b)40-c)45-d)50-e)55cm

Composition: 30% combed wool - 70% premium
acrylic

STITCHES

K1,p1rib

Stst

Rev st st

Patt st (see chart)

Single crochet (sc): insert hook in a st, yo and
draw yarn through st, yo and draw yarn through
both loops.

TENSION

Be sure to check your tension before starting to
knit. If tension is too tight, change to larger
needles; if it is too loose, change to smaller
needles.

18 sts and 24 rows to 10 cm measured over dble
moss st using 5 mm needles

8 cable ststo 4.5 cmusing 5 mmneedles

15 sts for diamond to 7 cm using 5 mm needles

24 rowsto 10 cm measured over all sts

17 sts and 22 rows to 10 cm measured over st st
using 5 mm needles

BACK

Please note: PHIL MIKADO yarn gives a
graduated shaded effect, each garment will be
different according to the size worked.

Using 4.5 mm needles, caston a) 69 - b) 75 - c) 83
-d) 93 - e) 101 sts and work in k1,p1 rib for 5 cm,
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begandend 1* row with k1.

Change to 5 mm needles and patt st (see chart),
inc 1stin 1% row.

[a) 70-b)76-c) 84 -d) 94 -¢e) 102 sts]

Work as follows: a)6-b)9-c) 13-d) 18- e) 22 sts
indble moss st, 2 stsinrev st st, 8 cable sts, 15 sts
for diamond, 8 cable sts (center), 15 sts for
diamond, 8 cable sts, 2 stsinrev ststand a) 6 - b)
9-c)13-d) 18-¢) 22 stsin dble moss st.

When work meas a) 20-b) 22-¢) 25.5-d) 29 - e)
32 cm after rib, shape armholes. On each edge,
cast off 5 sts once.

[a) 60 -b) 66- ) 74 - d) 84 - €) 92 sts]

When work meas a) 34-b) 38-c)43-d) 49-¢e) 54
cm after rib, shape shoulders. On each edge, cast
off: a) 4 sts once and 5 sts twice - b) 5 sts twice and
6 sts once - ¢) 6 sts twice and 7 sts once - d) 7 sts
once and 8 sts twice - e) 8 sts once and 9 sts twice

At the same time, shape neck. Cast off a) 10 - b)
c) 12 - d) e) 14 center sts and cont on 1 side at a
time. On neck edge, cast off a) b) 11 sts once - ¢)
d) 12 stsonce -e) 13 stsonce.

Work other side of neck in same way.

RIGHT FRONT

Using 4.5 mm needles, caston a) 35-b) 39 - c) 43
- d) 47 - e) 51 sts and work in k1,p1 rib for 5 cm,
beg 1° row with k2 and end with p1.

Change to 5 mm needles and patt st (see chart),
a)d)e)inc 1 stin 1" row.

[a) 36-b) 39- ) 43-d) 48 - ) 52 sts]

Work as follows: 1 selv st, 4 cable sts (beg with 5"
stin frame), 15 sts for diamond, 8 cable sts, 2 sts
inrevststanda)6-b)9-¢)13-d) 18-¢e)22stsin
dble moss st.



When work meas a) 20-b) 22 -c) 25.5-d)29 - e)
32 cm after rib, shape armhole. On left edge, cast
off 5 stsonce.

[a)31-b)34-c)38-d)43-¢e)47 sts]

When work meas a) 32-b)35-c¢)40-d)45-¢e) 50
cm after rib, shape neck. Onright edge, cast off: a)
6 sts once - b) ¢) 7 sts once - d) e) 8 sts once, then
cast off: a) 5 sts once, 4 sts once and 2 sts once -
b) 4 sts once, 3 sts once and 2 sts twice - c) 4 sts
once, 3 sts twice and 2 sts once - d) 4 sts once, 3
stsonce, 2 sts twice and 1 stonce - €) 4 stsonce, 3
stsonce and 2 sts 3 times

When work meas a) 34-b)38-c)43-d)49-¢e) 54
cm after rib, shape shoulder. On left edge, cast
off: a) 4 sts once and 5 sts twice - b) 5 sts twice and
6 sts once - ) 6 sts twice and 7 sts once - d) 7 sts
once and 8 sts twice - €) 8 sts once and 9 sts twice

Work Left Front, reversing shaping.

SLEEVES
Using 4.5 mm needles, castona) 38 -b) 40 - c) 42
-d) 44 - e) 46 stsand work ink1,p1 rib for 5cm.

Change to 5 mm needles and patt st (see chart),
inc 5 stsin 1 row.

[a)43-b)45-c)47-d)49-€e) 51 sts]

Work as follows: a) 4-b)5-c)6-d) 7-e) 8stsin
dble moss st, 2 sts in rev st st, 8 cable sts, 15 sts
for diamond, 8 cable sts, 2 stsinrevststand a) 4 -
b)5-c)6-d)7-e)8stsindble moss st.

Inc on each edge (keep patt st correct): a) on foll
8" rows, inc 1 st 6 times - b) on foll 6" rows, inc 1 st
6 times, on foll 8" rows, inc 1 st 3 times - ¢) on foll
6" rows, inc 1 st 3 times, on foll 8" rows, inc 1 st 7
times - d) on foll 6" rows, inc 1 st 12 times, on foll
8" rows, inc 1 st twice - e) on foll 6" rows, inc 1 st
16times

[a)55-b)63-c)67-d)77-€e) 83 sts]
When work meas a) 24 - b) 28.5-c¢) 34-d) 40 -e)
43 cm after rib, mark selv sts to indicate armhole

seams, then work straight.

When work meas a) 27 - b) 31.5-¢) 37-d) 43 -¢e)
46 cm afterrib, loosely cast off all sts.

Work other sleeve in same way.
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HOOD

Using 4.5 mm needles, cast on a) 99 - b) 105 - c)
113 -d) 117 - e) 119 sts and work in k1,p1 rib for
2.5cm, begand end 1 row with k2.

Change to 5 mm needles andrev st st.

When work meas a) 13.5 - b) 15.5 - ¢) 16.5 - d)
18.5 - €) 19.5 cm after rib, cast off center st, then
conton 1 side at a time. On separation edge, cast
off 1 st once, 2 sts once, 3 sts twice and 4 sts
twice.

Meanwhile, when work meas a) 15.5-b) 17.5-¢)
18.5 - d) 20.5 - e) 21.5 cm after rib, on outside
edge, cast off 1 sttwice, 2 sts once and 3 sts once.

When work meas a) 18.5 - b) 20.5 - c) 21.5 - d)
23.5-¢e) 24.5 cm afterrib, cast off rem a) 25 - b) 28
-c)32-d)34-¢e)35sts.

Finish other side in same way.

FRONT BANDS

Using 5 mm needles, cast on 4 sts and work in st
st fora) 35 - b) 40 -c) 45 - d) 50 - ) 55 cm, then
cast off.

Work another band in same way.

MAKE UP

Sew seams for shoulders, sides and sleeves. Join
sleeves to body.

Sew hood from points B to point C; then sew
around neck, matching point A and B on hood to
points A and B on body.

Using a 4 mm crochet hook, work 1 row of sc (see
STITCHES) along front sections.

Sew zipper on front sections. Sew front bands to
conceal zipper.
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Chart for patt st
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15 sts for diamond Centered cable
= Work from 1% to 18" row once, then = Work from 1% to 12" row once,

repeat from 3“ to 18" row (sts in frame) then repeat from 7" to 12" row
(sts in frame)
[11=k1 (RS) or p1 (WS)
[FEl=p1 (RS) or k1 (WS)
=4 sts crossed to right: sI2 onto a cable needle held behind work, k2, k2 on cable
needle

= 4 sts crossed to left: sI2 onto a cable needle held in front of work, k2, k2 on cable
needle

= 5 sts crossed to left: sl2 onto a cable needle held in front of work, sl foll st onto a 2™
cable needle held behind work, k2, p1 on 2™ cable needle, k2 on 1 cable needle

[>X1] = 3 sts crossed to right: sl1 onto a cable needle held behind work, k2, k1 on cable needle

=X = 3 sts crossed to left: sl2 onto a cable needle held in front of work, k1, k2 on cable
needle

[=Z<1 = 3 sts crossed to right: sl1 onto a cable needle held behind work, k2, p1 on cable needle

= 3 sts crossed to left: sI2 onto a cable needle held in front of work, p1, k2 on cable needle
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